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Q3= A A

#include <stdio.h>

int main(void)
{
int x, y, result;
printf("S 2l =5 B HotAI2:");
scanf("%d %d", &x, &y);

result = x +vy;
printf("%d + %d = %d", x, vy, result);

result = x - y; // 8 E
printf("%d - %d = %d", x, y, result);
result = x *y; // =&
printf("%d + %d = %d", x, vy, result);
result =x 7 y; // L4
printf("%d 7/ %d = %d", x, vy, result);
result = x % y; // LI X
printf("%d %% %d = %d", X, y, result);
return O;
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Q LHHX] & &kX}

// LHHX| AAX T2 )
#include <stdio.h>

minute = input / SEC_PER_MINUTE; // £
second = input % SEC_PER_MINUTE; // £

printf("%d == %d= %d= & LIC. \n",
input, minute, second);
return O;

#define SEC_PER_MINUTE 60 // 122 60=
int main(void)
{
int input, minute, second;
printf(" =& 2 HoltAIR:");
scanf("%d", &input); // =8 A2 S
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#include <stdio.h>
int main(void)

{
int x=10, y=10;

printf("x=%d\n", x);
printf("++xO| at=%d\n", ++x);
printf("x=%d\n\n", x);

printf("y=%d\n", y);
printf("y++2| at=%d\n", y++);
printf("y=%d\n", y);

return O;

x=10
++x 9 Z=11
x=11
y=10
y++9/ &~=10
y=11
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// S U M ZZ2
#include <stdio.h>

int main(void)

¢ D S
int x =10, y = 10, z = 33; % ? >

X+=1;
y *=2;
Z %= 10 + 20;

printf("'x =%d y=%d z=%d\n", X, Y, z);
return O;
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QO Al ALK (relational operator)
= SOHO| IO AFKIE HlWats o AR}
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0.4 Al ALK

Q aH| ALK (relational operator)

b P\ olg|
X==Y xet yII 22712
Xl=y xet yII 21
X>y xJt y&C} 2019
X<y xJt yE LI Z2719
X>=y XJt V2O IAHLU 221

X<=y XJt y&2C AU 22019




0.4 Al ALK

mEy|

GIDS

o AL} (relational operator)

{

#include <stdio.h>
int main(void)

int x, y;

printf("SIH 2] = L E0HAIL:");
scanf("%d%d", &x, &y);

printf("x == y2| Z gt %d", x == y);
printf("x != o| Z gl %d", x I=y);
printf("x > y9-| ja:' Dtk %d", x >y);

printf("x <y2| Ztal: %d", x <y);
printf("x >= y2| Z gl %d", x >=y);
printf("x <= y2| Z gl %d", x <=Yy);
return O;

ENC F+Z 2ot L2: 34
x ==y Z 4 0

x| /— O/ 4 7/7#

x>yo/ el 0

x <yl & 1

x>=yS Z a0

x <=y9/ Z et 1
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QO aH AAHKL (relational operator)
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= “xJ} 6004 1000]2+0|CY.”
« (x >=60) && (x < 100)
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A= =EotH 32 LIALAS JHA

x>y Jt Z0[H xIF =412 gt0| = Ct,

max value=(x>y)?

RN

x>y b HE O yI} 2A19] 2to] ECH.
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1) absolute value = (x > 0) ? x: -X;
2) max_value = (x >y) ? x: y;
3) min_value = (x <y) ? X: y;

/7 BUIEL Al
/7 2 U8t Albt
/7 = A8t Al

4) (age > 20) ? printf(“& 2I\n”): printf(“& 4 E\n”);




#include <stdio.h>
int main(void)

{

int x,y;

printf("X H M +==");
scanf("%d", &x);
printf("SS 2R ===");
scanf("%d", &y);

printf("=2==%d \n", X >y) ? X : y); T e 2
printf("& 2==%d \n", (X <y) ? X 1 y); 2 : | 1—_ :
_F_EK T-=

return O; 2 A—
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2 HANLO] XIS &0l A
» 22 HE (promotion)

double f;
f=10; // f0l= 10.00] M&=C},

« LS HE (demotion)

int i;
i = 3.141592; // i0l= 30| &=L
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(double) x // double@o 2 HEF
(long) (x+y) // long@Oo 2 HF
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#include <stdio.h>

int main(void)

{
inti;
double f;
f=574;
printf("%f\n", f);

f = (double)5/ 4;
printf("%f\n", f);

f=5.074;
printf("%f\n", f);

f = (double)5/ (double)4;
printf("%f\n", f);

i=1.3+1.8;
printf("%d\n", 1);

i = (int)1.3+ (int)1.8;

printf("%d\n", 1);
return O;

1.000000
1.250000
1.250000
1.250000
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#include <stdio.h>
int main(void)

{

int x=0, y=0;
Int result;

result=2>3]]6>7;
printf("%d", result);

result=2 ]| 3 && 3 > 2;
printf("%d", result);

result =x=y=1;
printf("%d", result);

result = - ++x + y--; //52 A A, x=1, y=1
printf("%d", result);

return O;




